Klosterskogen Saturday, March 30

RACE 1	Auto 1700 RANK
Only ranking.	A: 8-7-2
	B: 9-10-6-4-5-3
	C: 1

Top 4 : 8 - 7 - 2 - 9

Quinella:	Trifecta:	
Horses: 2, 7, 8	1: 2, 7, 8	
U-Horses:	2: 2, 7, 8, 9, 10	
Total: 3 x 40 = 120	3: 1, 7, 8, 9, 10	
	Total: 42 x 2 = 84	

RACE 2	Au	to 2100	RANK	
Only ranking.			A: 1	
			B: 4-7-2-8-6-5	
			C: 3-9	
			C. 3-3	
		_		
			Top 4 : 1 - 4 - 7 - 2	2
Quinella:	Trifecta:			
Horses: 2, 4, 7	1:1			
U-Horses: 1	2: 2, 4, 7			
Total: 3 x 50 = 150	3: 2, 4, 7			
	Total: 6 x 2 = 12	2		

Klosterskogen Saturday, March 30



RACE 3	V4-1	Auto 1700	RANK
Only ranking.			A: 7
			B: 1-2-4-10-9-5-6
			C: 8-3
			Top 4 : 7 - 1 - 2 - 4
			1004.7-1-2-4
Quinella: Horses: 1, 2, 4 U-Horses: 7		Trifecta: 1: 7 2: 1, 2, 4	
Total: 3 x 40 = 120		2: 1, 2, 4 3: 1, 2, 4, 5, 6, 9, 10 Total: 18 x 2 = 36	
	·		
RACE 4	V4-2	Auto 2100	RANK
		Auto 2100	A:
Only ranking.			A: B: 4-5-2-10-11-6-1-3
			D: 4-3-2-10-11-0-1-3
			C: 6-7-9
			Top 4 : 4 - 5 - 2 - 10
Quinella:		Trifecta:	
Horses: 2, 4, 5, 10 U-Horses:		1: 2, 4, 5, 10 2: 2, 4, 5, 10	
Horses: 2, 4, 5, 10		1: 2, 4, 5, 10	

Klosterskogen Saturday, March 30



RACE 5	V4-3	Auto 1700	RANK
Only ranking.			A: 8-3-2
			B: 4-7-1-5-9-6
			С:
			Top 4 : 8 - 3 - 2 - 4
	I		
Quinella: Horses: 2, 3, 8 U-Horses:		Trifecta: 1: 2, 3, 8 2: 2, 3, 8	
Total: 3 x 40 = 120		2: 2, 3, 8 3: 1, 2, 3, 4, 5, 6, 7, 8, 9 Total: 42 x 2 = 84	
RACE 6	V4-4	Auto 2100	RANK
RACE 6 Only ranking.	V4-4	Auto 2100	RANK A: 5
	V4-4	Auto 2100	
	V4-4	Auto 2100	A: 5
	V4-4	Auto 2100	A: 5 B: 10-6-2-1-3-7-11
	V4-4	Auto 2100	A: 5 B: 10-6-2-1-3-7-11
	V4-4	Auto 2100	A: 5 B: 10-6-2-1-3-7-11
	V4-4	Auto 2100	A: 5 B: 10-6-2-1-3-7-11 C: 4-9-8
Only ranking.	V4-4	Trifecta: 1: 5 2: 1, 2, 3, 6, 7, 10, 11 3: 1, 2, 3, 6, 7, 10, 11	A: 5 B: 10-6-2-1-3-7-11 C: 4-9-8
Only ranking. Only ranking. Quinella: Horses: 2, 6, 10 U-Horses: 5	V4-4	Trifecta: 1: 5 2: 1, 2, 3, 6, 7, 10, 11	A: 5 B: 10-6-2-1-3-7-11 C: 4-9-8

Klosterskogen

Saturday, March 30



RACE 7

V75-1

Volt **2900**

7 Belgique is a good horse for the V75. Trained by Björn Goop won easily with energy in the last seasonal debut. Good chance to an early lead now and our winner. **10 Pretty Devil** has competed strongly all winter and did well against Norwegian top horses in a V75 final last time. Better driver now. **13 Gangnam Style K.** has won in the V75 several times before and earned money in Åby Stora Pris last summer. Back after a break now. **4 Max Eagle FT** sprinted strongly to victory last time. Good form.

RANK
A: 7
B: 10-13-4-6-14-9-11-8-3-5-15
C: 12-2-1

Top 4 : 7 - 10 - 13 - 4

Quinella: Horses: 4, 10, 13 U-Horses: 7 **Total: 3 x 40 = 120**

Trifecta:

1: 7 2: 4, 10, 13 3: 3, 4, 5, 6, 8, 9, 10, 11, 13, 14, 15 **Total: 30 x 2 = 60**

RACE 8

V75-2

4 Crussi Dull is getting better and better at the moment and won by

a wide margin last time in a nice time. Good chance to find an early lead and our pick here. **8 Kinge Svarten** is also in top form, he was

superior second last time after a tough attack to the lead and was really good barefoot. Easy against mediocre opponents last time and

again barefoot now. **12 Balder Odin** met good horses last time and came back strongly after a gallop. **10 Frier Birk** was splendid against

Auto **2100**

A: **4-8**

RANK

B: 12-10-11-9-2-1-3-5-6-7

C:

Quinella:

Horses: 4, 8 U-Horses: **Total: 1 x 100 = 100**

the elite last time.

Trifecta: 1: 4,8 2: 4,8,10,12 3: 4,8,9,10,11,12 **Total: 24 x 2 = 48**

Top 4 : 4 - 8 - 12 - 10

Klosterskogen

Saturday, March 30



RACE 9

V75-3

Auto **2100**

3 Frazze won here last Easter against easier horses than these, but showed that he handles this surface well. Great seasonal debut last year and has a good chance to lead around here. **7 Born In Bergen** is obviously a tough opponent. He won the Norwegian Derby last year and is well prepared as it sounds, but he has got a worse draw than our pick here. **4 Kong Du Dalm** wins a lot of races, but tougher opponents now. **2 Bunny** did alright in the first race of the year but is facing tough stallions here.

RA	IN L	K	

B: 7-4-2-5-8-6

C: **1**

A: 3

Top 4 : **3 - 7 - 4 - 2**

Quinella: Horses: 4, 7 U-Horses: 3 **Total: 2 x 50 = 100** **Trifecta:** 1: 3 2: 2, 4, 7 3: 2, 4, 5, 6, 7, 8 **Total: 15 x 2 = 30**

RACE 10

V75-4

7 Tangen Bork won nicely outright in his seasonal debut after a pow-

erful attack from far behind. He should be even better now and has a good chance to an early lead. Our winner. **8 Järvsöodin** won the

Swedish Championships last summer and was perhaps better than ever in the first American bike last time. Owns good strength. **5 Stumne**

Fyr was interfered to a mistake last time but was already defeated then. The stable is pleased with the horse. **6 Grislefaksen GL** finished

strongly in the seasonal debut. American bike this time.

Auto **2100**

A: **7**

B: 8-5-6-4-3-9-1-2

RANK

C: **10**

Quinella:

Horses: 4, 5, 6, 8 U-Horses: 7 **Total: 4 x 30 = 120** **Trifecta:** 1: 7 2: 4, 5, 6, 8 3: 3, 4, 5, 6, 8, 9 **Total: 20 x 2 = 40**

Top 4 : 7 - 8 - 5 - 6

Saturday, March 30



RACE 11

V75-5

Auto **1700**

3 Charron gets the tip right at the start of the year. A classic type who was fourth in the Norwegian Kriteriet and in the last start of the year he really impressed. **10 Nelson Catch Me** was heavily backed in the V75 last time but galloped early. Two starts back he showed great speed to pass all opponents in the end. Early challenger. **1 Giant Laser** opened very fast and scored a superior victory from the lead. Could reach the front again. **8 Leandro Boko** is in top form but has got a difficult draw.

_	
RANK	
A: 3-10	
B: 1-8-4-5-2-7-9-6	
C:	

Top 4 : 3 - 10 - 1 - 8

Quinella: Horses: 1, 3, 10 U-Horses: **Total: 3 x 40 = 120** **Trifecta:** 1: 3, 10 2: 1, 2, 3, 4, 5, 8, 10 3: 1, 2, 4, 5, 8 **Total: 50 x 2 = 100**

-	_	-	_
		6 8	-) I

V75-6

Auto **2100**

4 Moni Viking has not had a real chance against the French elite this winter. Easier now and could reach the front here. American bike again now and our winner. **9 Four Guys Dream** won very easily from the lead in the Golden Division last time. Tough draw now on this 800 meter track but he is good from behind as well. **5 Stoletheshow** comes from four straight wins and will be heavily backed. Won but did not impress last time and could get a tougher journey here. **1 Z. Boko** impressed in the last seasonal debut. Could cause an upset here.

Top 4 : 4 - 9 - 5 - 1

RANK

A: 4-9-5

B: 1-2-6

C: 7-10-8-3

Quinella: Horses: 1, 9 U-Horses: 4 **Total: 2 x 50 = 100** **Trifecta:** 1: 4 2: 1,9 3: 1,2,5,6,9 **Total: 8 x 2 = 16**

Saturday, March 30



RACE 13

V75-7

13 Urbina Southwind has been splendid lately and finished from

far back to a couple of victories. In the last run she beat good stallions too. Our winner despite this tricky lane. **8 Princess Olivia** wins

very often and shows the right attitude but won pretty closely last time. Shoes and ordinary sulky now and not used to the circular start.

12 Timetoshinebonanza has high capacity and was fourth in the Norwegian Stoderbyt last autumn showing 1.12.4/2100 meter. Good

form. 7 Wildest Dreams won easily last time and looked nice.

Volt **2100**

A: 13-8-12

B: **7-4-9-2-14**

RANK

C: 3-5-1-10-11-6-15

Top 4 : **13 - 8 - 12 - 7**

Quinella:

Horses: 8, 12 U-Horses: 13 **Total: 2 x 50 = 100**

Trifecta: 1: 13 2: 7, 8, 12 3: 2, 4, 7, 8, 9, 12, 14 **Total: 18 x 2 = 36**